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And Shmu’ail permits it - W PRI

Overview'
XMW permitted drinking the 1772 %W 12w, because he maintains that 791 is .
Our NMv01N reconciles our &3 with a seemingly contradictory Xn3.

nooIN asks:
- zNﬂﬂ’ﬂ 2N NHDY 19991 VYV NN HNINYT 1IN (%, 7 10pY) PACA}] 799 9927 NN

It is astounding! for in the end of w1 pas the X n states that HXmw would

move the pits of Xn»o9p dates together with bread; moon explains xn*>07o dates -
- 2595 DAYYY HIINN N INVI PRY 1998 53 MV WIS

Meaning that they are fully ripe so no food at all remains on the pits -

- 59NWYY 393 KNP Y2 PNV 393 *199) 397 119
But since XY maintains that 7911 is permitted like @''9, it should be permitted
to move the pits even without the bread! Why did >x1w use the bread?!

n90IN answers:
= YN DTN NONVY 292 NN 1YY DY 9INN INNYT BN 13529 XM

And the n''m answered that X2 was strict with himself, since he was a

prominent person -
:NIN 2IWN DIRT IND IN AN YINRT *BNH NIND N =)

And it is also evident in the X973 there where 92X said, ‘if I were not an 27X

212, etc. [ would move the bundles without a spoon.

Summary
Even those that are 7911 7°n» are careful not to move it if they are an 21wn Q7.

Thinking it over
Why should a prominent person be 2°»nn if he maintains it is 9n1M?°

' See ‘Overview’ to the previous 1aw 71"7 ‘oI

* If objects which are 7%pm are on top of an object which is not 7¥p¥, one may move the non-7¥p1» object together
with the 7% object (provided it did not become a MOR7 1277 ©°03). PX MW placed the pits (which are presumably
7211/ m) on bread and moved the bread with the pits.

3 See previous 12w 7"7 '01n [TIE footnote # 17].

* See previous 1w 7"7 MoOIN that the NPYonn between XM 27 by 1772 Y@ 12w is regarding 721, and Xmw permits 791,
> 2,2mp. The Xm3 there relates that »ax placed a spoon on bundles of produce in order to move the produce together
with the spoon. "2k commented that really he could have moved the produce by itself (without the spoon), because
it is not 77X (since it can be used to lean on them), however, ‘because I am an 27w a7X I used a spoon’.

% See *"w there W X 71"7 2,207.
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